COMPOUND ANGLES

SYNOPSIS

] e sin (A+tB)=sinAcos B+ cosAsin B

e sin (A-B)=sinA cos B-cosAsin B
e sin(A+B)+sin(A-B)=2sinA cosB
e sin (A+B) - sin (A-B)=2 cos Asin B
e sin (A+B) sin (A-B) =sin’A - sin’B
=cos’B - cos? A
e cos (A+B)=cosAcos B -sinAsin B
e cos (A-B)=cos Acos B+sinAsinB
e cos (A+B) + cos (A-B)=2 cos Acos B
e cos (A+tB) -cos (A-B)=-2sinAsin B
e cos (A+B) cos (A-B) = cos?A - sin’B
= cos’B - sin’A
tan A +tan B
l1—-tan 4 tan B

o otan(4+B)= for

AB,A+B e R—(2n+l)%, neZ

tan A—tan B

A-B)=—————
.tan( ) 1+tan Atan B

for

A,B,A-B e R—(2n+1)%, nez

tan> A—tan’ B
1—tan® Atan’ B

o tan(A+B)tan(A4—B)=

_1+tan@ cosO+sind

o tan(45°+9) = -
l1-tan@ cos@—sinf

:cot(45° —49)
_1-tan@ cos@—sind
l+tan@ cos@+sind

= cot(45° +¢9)

e tan (450 — 6’)

cot 4 cot B-1
cot B+ cot 4°

A,B, A+B e R—nn,neZ

PY e COt (A+B)= for

cot A cot B+1

o M) = Bt 4

for

A,B, A—-B e R—nn,neZ

cot? Acot’ B—1
cot’ B—cot” 4

o cot(A+B)cot(A-B)=

10.

sin (A+B+C) = sin A cos B cos C + cos A
sinBcosC +cosA cosB sinC - sinA sinB sinC
cos(A+B+C) = cosA cosB cosC-cosA sin B
sin C -sinAcos BsinC-sinAsinB cos C
ta 1{ A+B4 C) =tanA+tanB+tarC—tanA tanB tanC
I-tan4tanB—tanBtanC—tanCtanAd

cot A+ cot B+cotC—cot Acot Bcot C
1—cot Acot B—cot Bcot C—cotCcot A

Gei

cot(A4+B+C)=

sin 159 = =cos75°
[} 2\/5
e COS 15° = ﬁ+1 = sin 75°
272

tan 15° =2 —+/3 =cot 75°

cot 15° :2+\/§:tan750
sec15° =6 =2 = cos ec75"
* cosecl5” =/6 ++/2 =sec75°

tan A+ tan B+ tan (A + B)tan A tan B = tan (A4 + B)

LEVEL-I
sin 20° + sin 40° - sin 80° =
1. -1 2.1 3.2 4.0
Sin ¢ -sin (120% ¢ ) +sin (120% ¢, ) =
1.1/2 2.1 3.32 4.0
sin 20° - sin 100° + sin 140° =
1.0 2. 12 3.1 4.3/2
sin 40° —sin80° +sin160° =
1.0 2. -1 3.1 4.1/2
cos A4 +cos(1200 + A)+cos(120° — A) =
1.1 2. -1 3.0 4. 2
c0s20° + cos100° + cos140° =
1.0 2.1 3.2 4. 3
c0s42° +cos 78" + cos162° =
1. 1 2. -1 3.0 4. 2
c0s35° +cos85° + cos155° =
1. -1 2.0 3.1 4. 1/2
sin A - sin (240°-A) + sin (240°+A) =
1.1 2.2 3.3 4.0
sin 40° - sin 200° + sin 280° =
1. -1 2.1 3.0 4.2
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11. cosA+cos(24O0 + A)+ cos(240° —A) = c0s9” +sin 9’
27. — S - o -— tanx = x =
1. 0 2.1 3.2 4. -1 cos9” —sin9
12. tan 18°+tan 27°+ tan 18° tan 27° = 1. 450 2. 540 3. 270 4, 180
1. -1 2.0 3.1 4.2
. . . . - cos15’ +sin15°
13.  tan40°+ tan 80° _,/3 tan 40° tan 80° = © oos15’ —sinlS
3 L 41 1
143 23 NE NG 1.1 2.3 [ 4243
14. tan 11°+tan 19%) + tan 11°tan 19° = i
3 (tan 1%+ tan 19% +tan 11° tan 29, 0<o<Tng- D2 iSO _ o
1.1 2.-1 3. 4. _ o
\E \E 1.16° 2.74° 3.37° 4. 8°
15. tan 65° - tan 20° - tan 65° tan 20° =
tan225° — cot 81° cot 69°
1.-1 2.1 3. 4. _ 30. _
\/g \/g cot261° + tan21°
16. tan 20° - tan 80° + /3 tan 20° tan 80°=
1 1
L L L2 o A
143 B 33 G T
t +
17. tandx +tan 5x - tan9x = k tan4x tan5x tan9x 31. an 5 an T =
k= 1—tan 69" tan 66
1.1 2. -1 3. +1 4.2 1.1 2. -1 3. \/3 4.-\/3
18. tan&x -tan 5x - tan 3x = mtan8x tanS5x tan3x 0 o
—om= 1 tan40" +tan 20 B
' t45° —cot 50° cot 70°
1.1 2.1 .61 4. _f3 0 cor>T co
1. 2.1/ 3.1 4. -1/
19. tan25°+tan35° _\/3 =ktan25"tan 35" = k= 3 3 3
tan 40° + tan 20°
1.1 2.-1 3.4/3 4.—/3 33. =
5 v V3 tan 225° —cot 70° cot 50°
20. tan 20° - tan 80° + =
1. 2.1/ 3.1 4.0
1. tan 20°tan 80° 2. -tan 20° tan 80° \/5 \/5
3.{3tan20°tan80° 4. /3 tan20%an80° | ,, 1-tan2cot62’ _, o
" tan152° —cot 88"
21 a=tan25°+tan35°_ /3, anioe oo
1. 1 2. -1 3. 12 4.-1/2
b=cot 25"+ cot 35+ /3 = ab= 3
1.3 2.1/3 3.-3 4.-1/3 35. Ina A ABC, Ais obtuse, Sin A= g, Sin B=
22. tan35+2tan20°=tanx = x =
1. 15° 2.50 3.55° 4. 50° 5 )
23, tan40°+2 tan 10°=cot X = x= 3 thenSinC=
1.75° 2. 850 3.30° 4. 40°
24. tan 50°-2tan 10°= 1.2 2.E 3& 4.E
1.tan 50° 2.cot50° 3.tan10° 4. cot 10° 65 65 5 13
25. tan 100° + 2 tan 70° = 5 15
1.tan 10° 2. cot 10° 36. IfCosA = E ,tan B =_§ R 2700<A<3600,
- 0 } 0
2% f t,?(r)lol({[ 200 =k thOCOtlﬁ_ 90° <B < 180°, then the quadrant to which
’ lanl i an2 ) SKeo 3 1: a 40 A + B belongs is
' ' . o 1.1V 2. 111 3. 10 4.1
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37.

38.

39.

41.

42.

43.

44,

tanA=1/3,tanB=1/7 = 2A+B=

2. X 3.1 43"
4 2 2
SinA = E,cosB = —E-

13

b

0<A<g,1'r<B<37ﬂ:Sin(A+B)=

A S U
65 63 65 65
0<A,B<—
9 25
SmAzL SmB:L:>A+B:
10 J5
1.3 2 3. 4.
4 3 4 3
13 1
40.00sA=—,c0sB==,0<AB<— s A_B=
14 7
i 2T 3.1 4.
6 4 2 3
1 4
0<AB<—,cos(A+B)=—,
4 5
. 5
sm(A—B):E:tanzA:
T .
63 33 65 77
1 1
tanA:E,tanB:§:>tan(A+B):
1.1 2.-1 3.3 41U%3
tanA=£,tanB=L:>cos(A+B)=
18 35
1. 1 2. o 3. -1 4.1/
tan(A+B)=m,tan(A—B)=n:>tan2A=
m+n m-—n m+n m-—n
“1-mn T 1l4+mn T l+mn " 1-mn

45.

tan(A+B) =m,tan(A—B) =n=cot2B=

m+n 1+mn 1—mn m-—n

"1-mn " m-—n " m+n " 1-mn

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

tan 4+tanB tan A—tan B
—+ =

tan(A+B) tan(A—B)
1. 0 2.1 3.2 4. 1/2
sin(0+a)=cos(0+a)=tanbd =
1l—tanoc ) 1+tana
1+tana ‘1-tana
3 1+sina 1+ Cosa
1-sina "1-Cosa.
tan 4 = " ,tan B = = A+B=

n+1 2n+1
1. 300 2. 450 3. 600 4.900

IftanA=1,tan B=2, tan C =3 then A+B+C=

nm
I-T,n el 2.nt,neZ

sin 463°. Cos 373°+ Cos 823°. Sin 193°=

V3
2

1.0 2.1/2 4.1

cos(n-+1) Acos(n+2) A+sin(n+1) Asin(n+2) A=
1. cosnA 2. cosA 3. cos2nA 4. cos 2A

cos(450 —A) cos(450 —B) —sin(450 —A)sin(450 —B) =

1. sin(A-B) 2.sin(A+B)
3. cos(A+B) 4. cos(A-B)
tan 75° + cot 75° =
1.1 2.2 3.3 4. 4
sin105° + cos105° =
1. 1/\/5 2. -1/\/5 3.0 4. 1
tan15° —cot15° =
1. 4 2. 2\/3 3.4 4. -2\/5
cot 15%cot 75° + cot 135°- cosec 30° =
1.4 2.3 3.2 4.1
Cos?45°-Sin?2 15°=
1

l.ﬁ 2_1 3_£ 4. —

2 2 4 3
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0 0

3
58. c05252% —sin222% = 67. a+ﬂ=7ﬂ:>(l—tana)(l—tanﬁ):
1 \/§+1 , \/5_1 1. 0 2. -1 3.2 4.1
42 C 42 1+cot A)(1+cotB
6. A+B—205" = Cotj( t;" )_
cot Aco
3 3+4/3 4 3-3
4\/_ : 4\/5 1. 1 2.2 3.3 4. 4
L 10 69. x+y:(4n+1)%,neZ:(1+tanx)(1+tany):
59. sin’52— —sin’22— =
2 2 1. 1 2. -1 3.2 4. -2

1 \/§+1 ) \/5—1 70. x+y=(4n+3)%,neZ:>(1+t?:nx3$;;any):
NG NG
1.1 2.2 3.3 4. 4
3+43 NE) 71. cos(A-B)=3cos (A+B) = tanAtan B =
SN SN 1.2 2,32 3.1 4.1/2
72. Y [sin(4+B).sin(4-B)]=
VA
t| =+6 |cot| =—6
60. € (4+ jco( j 1.0 2.1 3.2 4. 12
1. 0 2. -1 3.1 4. 1/2 Z sin(A—B) ~
T 73. cosAcosB |
61. tan (—+6’jtan(—+6’}=
4 2.1 4. 12
1.1 2. -1 3.2 4. -2
s1n A+B sm A B
- 4. 2 B
62. 0!+ﬂ=Z:>(l+tana)(l+tanﬂ): sin® Asin
1.1 2. -1 ) 4. -2 10 ' 3 4. 12
63. (1+tan18°)(1+tan27°)= 53 sin(A+ B)sin(A—B)
cos® Acos’ B
1.1 2. -1 3.2 4. -2
1. 0 2.1 3.2 4. 12
(1+tan13" )(1+tan32°): 76. A+B+C = 180° —
% (1+tan12°)(1+tan33") Cosec A [Sin B cos C + cos B sin C] =
1.1 2.-1 3.0 4.2
1.1 2.2 3.3 4. 4 77. A+B+C =180 —
Sec A [cos B cos C - Sin B sin C]
(1+tan21 )(1+tan24°) 1.1 2. -1 3.0 4.2
65. 0 0y
(1+tan22°)(1+tan 23°) N 0 ZCOS(A+B)_
11 2.2 3.3 4. 4  ATBrC=00TS SeosdcosB
66. A+B=135"= (1+cot 4)(1+cot B) = 1.4 2.3 3.2 4.1
1.1 2.2 3.3 4. 4
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45 86.  tan27" tan32" +tan32’ tan31° + tan31° tan 27’ =
_ tan — ==
7. I 4+B+C=180", 1an =7 and 11 2.2 3.3 4. 4
87. A+B+C = 360",
tanB 20 th tanC
— =——then tan—=
2 37 2
COtA+COtE+COtE:kCOtACOtECOtESk=
5 307 ; 4 4 4 474 4
= — — = 1.4 2.3 3.2 4.1
1. > 2. 22 3. 2 4. 5
T
80. A+B+C=r= tanA+tanB+tanC = 88. A+B+C:E:>COtA+C0tB+COtC:
l. sinAsinBsinC 2. cos Acos BcosC S
l. sinAsinBsinC 2. cos Acos BcosC
3. tandAtanBtanC 4. cot AcotBcotC
3. tanAtan BtanC 4. cot Acot BcotC
Vg
81, A+B+C=—=
2 20, A+B+C:180°:Z(Mj:
tan A+ tan B
tan Atan B+tan BtanC +tanCtan 4 =
L1 ) -1 30 4 9 1. -1 2. 0 3.1 4. 2
82. tan(A-B)+tan (B-C)+ tan (C-A)= 90. Ina A“ABC, if cotA+cotB+cotC =3
1.tan Atan Btan C 2.cot AcotBCotC then A ABC'is
3. tan (A-B) tan (B-C) tan (C-A) 4.0 1. an equilateral triangle
83. tanS5x-tan3x-tan2x= . )
2. aright angled triangle
1. tan 5x tan 3x tan 2x ) )
3. anisosceles triangle
) sin5x—sin3x—sin2x 4. aright angled isosceles triangle
' COS X 91. A+C=B=>tanAtanBtanC=
3.0 4.-tan 5x tan3x tan 2x I.tanA+tan B +tan C
o 2.tan B-tan C - tan A
84. A4+B+C=0"=tanA+tanB+tanC =
3.tan C +tan A-tan B
l. sin AsinBsinC 2. cos Acos BcosC 4. [tanA-+tanB-+tanC]
3. tanAtanBtanC 4. cot Acot BcotC 92.  A+B=300" = (1 + v3cotA fi+ v3cotB )=
A B 1.4 2.3 3.2 4.1
5. A+B+C:360°:tan—+tan—+tan£:
2 2 2 .
sin(a+f) a+b _ tana _
93. sin(a—f) a-b tanp
1. sin—sin—sin —
1 & L,k ;& L, _a
A B C ) " a " 2b b
2. COS—COS—COS—
2 2 2
i B C 94 tan0, = k cot0, = 2SO =6) _
3. tan—tan —tan — cos(6: + 6:)
2 2 2
1 B C 1.1+k 2.l—k 3.k+1 .k—l
4. cot—cot—cot— 1-k 1+k k-1 k+1
2 2 2
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95.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

CotACotB=2,Cos (A+B)=3/5 =
sinA.sin B=

1.2/5 2.1/5 3.4/5 4.3/5

cos(x—y)=3cos(x+y)=>cotxcoty=

1.1 2.2 3.3 4. 4

. 1 .
sin xcos y ZZ,3tanx =4tany =sin(x—y)=

4. —

7,3
"4 16

" 16 " 16

If A and B are acute angles, sin 4= L and

52

1
tan B = 3 then A+2B=

T S 4 2
3 3 . %

K
4
0<0 <%,25in9 = /3 c0s10° +5sin10°

=0=

1.50° 2.70° 3. 40° 4.80°

sin” @ + sin’ (.9+6o°)+sin2 (9—600) =

1. 172 2. 372 3.1 4. 0

sin?27° +sin? 87° +sin?33° =

1. 1/2 2. 3/2 3.1 4. 0

cos’ @ + cos’ (600 — 9) +cos’ (60O + 9) =

1. 1/2 2. 3/2 3.1 4. 0
cos® 20” +cos” 40° +cos” 80" =

1. 1/2 2. 3/2 3.1 4. 0
sin205+sin2(120°+05)+sin2 (1200— ):
1. 1/2 2. 3/2 3.1 4. 0
cosza+cosz(1200+a)+cos2(1200—a)=
1. 1/2 2. 3/2 3.1 4. 0

21.

25.

42.

93.

KEY

1.4 2.4 3.1 4.1 5.3

6.1 7.3 8.2 9.4 103

1.1 12.3 13.2 141 15.2
16.3 17.2 181 19.4 20.4
21.3 22,3  23.4 24.2 25.3
262 272 282 29.2 30.3
31.2 321 33.1 34.2 35.2
36.4 37.2 38.3 39.3 404
41.2 42,1 43.4 44,1 45.2
46.3 47.1 48.2 49.2 50.1

5.2 52,2 53.4 541 55.4
56.4 57.3 58.4 59.1 60.3
61.1 623 63.3 64.1 651
66.2 67.3 68.2 69.3 70.2
71.4 721 73.1 741 75.1
76.1 77.2  78.3 79.4 80.3
8l.1 82.3 83.1 843 853
86.1 87.4 88.4 893 90.1
91.2 92.1 93.1 94.1 95.4
96.2 97.1 983 99.2 100.2
101.2 102.2 103.2 104.2 105.2

HINTS

tan 25° + tan 35° ++/3 tan 25° tan 35° = /3

- a=—/3tan 25" tan 35", multiply ‘a’ and ‘b’

If 24+ B= odd multiple of 9¢° then
tan 4+ 2tan B =tan( A+ B)

tanAzﬁ,tanB:q_p
q q+p

apply componendo and dividendo.

— A+B="
4
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10.

I1.

12.

LEVEL-II

cos(A-B)
cos(A +B)
1.1 2.2 3.3
cos(A-B) N cos(C+D)
cos(A+B) cos(C-D)
tanAtan Btan Ctan D=

1.0 2.1 3. -1
cos(A-B) N cos(C+D) 0
cos(A+B) cos(C-D)
tanAtan Btan C=

I.tanD 2.cotD  3.-tanD
cos(A+B) cos(C-D)
cos(A-B) cos(C+D)
cotAcotBcotCcotD=

1. -1 2.0 3.1
cos(A +B) N cos(C-D) 0
cos(A-B) cos(C+D)

2tanAtanB=1 =

4.2

4. -cotD

4.2

cotAcotB CotC=

1.tanD 2.cotD 3.-tanD 4.-cotD

tanf+cot6 =3 = tan*0+cot*0 =

1. 47 2.162 3.24 4. 48

CotB=2tan (A-B) = 2tan B+ Cot B=

1.tan A 2.CotA

3.2tan A 4.2 CotA

tan (45° +A)+tan (45%-A) =

1.2 cosec 2A 2.2sec2A

3.2tan 2A 4.2 cot 2A

sec (45°+A) sec (45°-A) =

1. sec 2A 2.cos 2A

3.2 cos2A 4.2 sec 2A

cos(45° + A)—cos(45" - A) _

sin(120° + A) —sin(120° — A)

1.2 2.2 342 42
1 3

sin10° cos10°

1.4 2.3 3.2 4. -1

3 cosec20” —sec20° =

1.2 2.3 3.1 4.4

13.

14.

15.

16.

17.

18.

19.

1 1
+ =
c0s290° /3 sin 250"

4

l'ﬁ

5 2 ; 2sin50°4 0
i) " sin40°

i
Ifd+,3=5 and f+y =« then tang =

1. 2(tanf+tany) 2. tanf+tany

3. tan f+2tany 4. 2tan f+tany

If tana,tan # are the roots of the equation
X'+ px+gq :0(p ;tO) then
1-¢g
1. tan(a+p)=—>
P
2. tan(onrﬁ):_—p1
4

<

3. tan(a+ﬂ)=ﬁ

4. cot(a+p)=p

1
Jdfanp=——,Sa-p=
g 2m—1 g

tana =
m_

1. /2 2. /4
x =tan A,y = tan B,z = tan C,
X+y+z=XYZ = A+B+C~

4. 7/6
and

3.z

nrw nrw

1. ? 2. 7 3. nrx 4.

T
4
If sin(A4+B+C)=1 and sec(4+C)=2,

A,B,C being acute angles then B=
1. 900 2. 450 3. 300 4. 600

If A+ B+C=x and cos 4 =cos BcosC then
the value of tan 4 interms of B and C is

l. tanBtanC 2. tanB+tanC
3. tanB—tanC 4. tanC—tan B
KEY
1.3 2.3 3.4 4.1 5.3
6.1 7.1 8.2 9.4 10.3
11.1 12.4 13.1 14.3 15.3

16.2 17.3 18.3 19.2
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6.

14.

HINTS

tan’@+cot’0=9-2=7
tan* @+cot* =7 -2

tan f+ tan y _tang

1—tan ftany

=tanf+tany =tana —tany (Q tana.tan f=1)

19.

sin A=sin BcosC +cos BsinC

divide with cos 4, tan 4 =tan B+tan C

LEVEL - 111

2sin AsinC
If tan B=————— then

sin(4+C)

tan 4, tan B, tan C arein

1. AP 2.G,pP 3. HP 4. AGP

T
Ifa+,3+7=5 and cota, cot , coty arein

A.P. then the value of cota.cot y is

1. 1 2.2 3.3 4. 4
xsin B ysin 4
tand=———" tanB=———
it l1-xcosB and 1-ycos 4
" sind
en sin B
1. — 2. % 3. x+y 4. x-y

in (0 B
sm( +a)_1 mztan(%—@}tan(%—aj:

cos(0-a) l+m

2
1. 2. m 3. — 4. 2m
m

1
m

cos(x—y)+cos(y—z)+cos(z—x)=—%

=Y (cosx)=

1. 0 2.1 3.2 3.3

1
Ina A ABC, if cos Acos BcosC = 3 then the

value of tan 4tan B + tan Btan C + tan C tan 4
is
1. 1 2. 4/3 3. 4 4. 3

. . . 1
Ina Ak ABC, if sinA4sinBsinC = 3 then the

value of cot Acot B+ cot Bcot C+cot Ccot A
s
1. 1 2. 4/3 3. 4 4. 3

KEY
1.3 2.3 3.1 4.2 5.1

HINTS

(sin Acos C +cos Asin C)sin B

=cos B(2sin 4sin C)

divide with gin Asin Bsin C

cota.coty —1 V4
————=cot| ——
5

coty +cota
= cota.coty =1+tan f.2cot f =3

sin 4 xsin B

cosd l-xcosB

= sin 4 = x(sin Acos B+ cos Asin B)
= sin 4 = xsin( A+ B)

Similarly sin B = ysin(A+ B)

2cosxcos y+2sinxsin y+ 2cos ycosz +

2sin ysinz 42¢coszcosx+2sinzsinx+3=0

(cosx+cosy+cos Z)2 +(sinx+siny+sinz)2 =0

=2cosx=0
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LEVEL-1V

Assertion (A):

tan40° + tan 80° —~/3 tan 40° tan 80° = —/3
Reason (R):
tan(A+B) = tanA+tanB+tan(A+B)tanAtanB

1. Aistrue, R is true and R is correct explanation
of A

2. Aistrue, R is true and R is not correct expla-
nation of A

3. Aistrue, R is false

4. Aisfalse, Ris true.

Assertion (A):

3
2 2 0 2 (0 _ 2
cos” @ +cos (60 —9)+cos (60 +t9)—2
Reason (R):
sina—sin(l20°—a)+sin(120°+a)=0

1. Aistrue, R is true and R is correct explanation
of A

2. Aistrue, R is true and R is not correct expla-
nation of A

3. Aistrue, R is false

4. Aisfalse, Ris true.

. 12 V4
Statement (I): If SIN& = IES 0<a< 5 and

COS,B=—%,(7Z’<ﬂ<377[j then

sin(a+ﬂ):%_

Statement (II): If @ and ¢ are angles in the first

1 . 1
tand = — Sme =——
quardrant such that 7 and Sin ¢ J10

then 6+ 2¢ = 45°

Which of the above statements is correct?
1. Onlyl 2. Only Il
3. BothIand II 4. Neither I nor 11

Statement (I): Ina A% ABC, z tan 4 = 7 tan A4

Statement (II): Ina A’ ABC, z cotA=mcotA4

Which of the above statements is correct?
1. OnlyI 2. Only Il
3. BothIandII 4. Neither I nor II

Statement (I): If mcos(6+a)=ncos(6—-a)

m+n

then tan@.tan o =
m-—n

sin (a + ﬁ) a+b
Statement (II): If sin (a—ﬂ) ~a—b then

a
tana.cot f = 5

Which of the above statements is correct?
1. OnlyI 2. Only I
3. BothIandII 4. Neither I nor II

Statement(I): If 4+ B+C=r
(4,B,C>0)and the angle C is obtuse than

tan Atan B <1.
Statement (II): If A,B,C are acute positive angles

suchthat 4+ B+ (C = and

1
_ K<—
cot Acot Beot C = K then 33

Which of the above statements is correct?

1. OnlyI 2. Only Il
3. Bothland Il 4. Neither I nor II
Match the following:
List -1 List-11
T s
cot| —+80 |.cot| —— 0
o T)e(T0) o
2. sin(450 +<9)—c0s(45° —6’) b. tan56°
cos11’ +sin11° NE)
) c. —
cosl1’—sinl1° 2
4. 5in?75° —sin?15° d. 1
1. 1-d, 2-a, 3-b,4-c 2. 1-a,2-b,3-c,4-d

3. 1-c,2-b,3-d,4-c 4. 1-b,2-c,3-a,4-d
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8. Match the following

List-1 List-1I

L. 5in50° —sin 70° +sin10° a. 4

2. 3 cosec20’ —sec20° b. 2.3
3. tan15° —cot15° c.0
4.5in15° cos15° d. %

1. 1-a,2-b,3-c,4-d 2. 1-b,2-¢,3-d,4-a
3. 1-¢,2-a,3-b,4-d 4. 1-d,2-b,3-c,4-a
9. Arrange the following values in the ascending or-

der of their magnitudes
A:lf 4+ B+C = then

cos A cos B cosC

+ + =
sin BsinC sin AsinC sin 4Asin B
B:If 4+ B+ (C = then ZcotA.cotB=
C.If 4+ B+ C = s then
tan3A4+tan3B +tan3C =

2K tan3Atan3Btan3C , then K=
D:If 44+ B+ C = 7 then

sec A(cosBcosC—sin BsinC) =

1. D,C,B,A 2. AB,C,D
3. AB,D,C 4.D,A.B,C

10. If 4=sin15" +cos15°,

B=tan15" +cot15°,

0 0

C =tan 22% —cot 22% then the

descending order is
1. AB,C 2.BA,C 3.C.BLA 4.B,CA

KEY

1.1 2.2 3.2 41 5.2
7.1 8.3 9.1 10.2
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